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You have decided to buy 500 shares of an IT company with the
intention of selling out at the end of five years. You estimate that
company will pay Rs. 3.50 per share as dividends for the first
two years and Rs. 4.50 per share for the pext three years. You
further estimate that, at the end of the five year holding period,
the shares can be sold for Rs. 85. What would you be willing to
pay today for these shares if your required rate of return is 12
per cent i

Whydouompammsue shares in the primary market ? What is
the relationship between the new issue market and the secondary
market? -

Write short notes on :
(a) Costofinvestinginsecurities. - -
®) Whymtnshammwnhstedmw?
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SECURITY ANALYSIS AND INVESTMENT
MANAGEMENT
Paper—FM-306

Time allowed : 3 hours]
Note : Attempt any Eight guestions of five marks each from

Part-A and three questions of ten marks each ﬁ'om ;

Part—.B :
Part-A-
Whydo is;wustnrs favestingnld?
What:s:d]mgmﬂmt?
WMWmmm
mmwﬂmmomemm
Whambemmowmﬂmupmmd? e
Whatmmmtbydxmhonofabmd?
: %temtlnoniapanmmdlﬁnckcbam
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8. Ematmrmdomwalkmy?

9, Why:snuﬂmtanah'mssommm?
10. ‘Dmcn?bethepmcﬁhneofmveﬂmgmeqmﬁ'dmm
Part—B

1. DeﬁnenshaﬂchsmmmmmﬂWc
risk. Whﬂmthesmmdmhm&&mmﬂ:enskofﬂm
securitiesretumn ? -
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